Bl

It's raining outside. They their umbrellas.
Answer:

She a jacket because it's cold.

Answer:

We to the beach because the sun is shining.
Answer:

The wind very strong today.

Answer:

He his sunglasses because it's sunny.
Answer:

They inside because it's snowing.
Answer:

I a hat because it's windy.

Answer:

We a picnic because the weather is nice.
Answer:

She in the pool because it's hot.

Answer:

They a jacket because it's raining.

Answer:




Answers

It's raining outside. They their umbrellas.
Answer: are using

She a jacket because it's cold.
Answer: is wearing

We to the beach because the sun is shining.
Answer: are going

The wind very strong today.

Answer: is blowing

He his sunglasses because it's sunny.
Answer: is wearing

They inside because it's snowing.
Answer: are staying

I a hat because it's windy.

Answer: am wearing

We a picnic because the weather is nice.
Answer: are having

She in the pool because it's hot.
Answer: is swimming

They a jacket because it's raining.
Answer: are wearing



